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	SECTION A
	

	
	
	
	

	QUESTION 1  (LO1 – LO4)
	

	
	
	
	

	1.1
	
	
	

	LO1
	1.1.1
	A ((
	widening
	

	
	1.1.2
	B ((
	relative
	

	
	1.1.3
	A ((
	added to
	

	LO2
	1.1.4
	B ((
	complementary
	

	
	1.1.5
	A ((
	marginal cost
	

	
	1.1.6
	A ((
	negative
	

	LO3
	1.1.7
	B ((
	progressive
	

	
	1.1.8
	A ((
	developing
	

	
	1.1.9
	A ((
	3% – 6%
	

	LO4
	1.1.10
	C ((
	North/South
	

	
	1.1.11
	A ((
	renewable
	

	
	1.1.12
	C ((
	relative 





(12 x 2)
	(24)

	
	
	
	
	

	1.2
	1.2.1
	Fiscal policy ((
	

	
	1.2.2
	Micro-economics ((
	

	
	1.2.3
	Inflation ((
	

	
	1.2.4
	Global warming ((
	

	
	1.2.5.
	Centrally Planned economy ((
(5 x 2)
	(10)

	
	
	
	

	1.3
	1.3.1
	H ((
	

	
	1.3.2
	E ((
	

	
	1.3.3
	F ((
	

	
	1.3.4
	A ((
	

	
	1.3.5
	G ((
	

	
	1.3.6
	D ((
	

	
	1.3.7
	B ((
	

	
	1.3.8
	C ((








(8 x 2)
	(16)

	
	
	
	

	
	
	TOTAL SECTION A:
	50


	SECTION B
	

	
	

	QUESTION 2  (LO1:  AS1 – AS4)

	
	
	

	2.1
	2.1.1
	derived ((
	

	
	2.1.2
	economic development ((
	

	
	2.1.3
	consumption ((
	

	
	2.1.4
	durable ((
	(8)

	
	
	
	

	
	2.1.5
	THREE factors influencing interest rate on capital
	

	
	
	· Risk of investment ((
	

	
	
	· Liquidity of investment ((
	

	
	
	· Term of investment ((
	

	
	
	· Demand for capital goods ((
	

	
	
	· Supply of funding ((
	

	
	
	(
Monetary policy ((
(Any 3 x 2)
	(6)

	
	
	
	

	2.2
	2.2.1
	The total value of all final goods and services produced within the boundaries of a country in a particular period.(((
	(3)

	
	
	
	

	
	2.2.2
	Basic prices plus taxes on products less subsidies on products.(((
	(3)

	
	
	
	

	
	2.2.3
	Primary:  Mining and quarrying ((
	

	
	
	Secondary:  Manufacturing ((
	

	
	
	Tertiary:  Community, social and personal services. ((
(3 x 2)
	(6)

	
	
	
	

	
	2.2.4
	Water, sewerage, roads, electricity, policing and street lightning        ((  (Any appropriate example)           
(Any 1 x 2)
	(2)

	
	
	
	

	
	2.2.5
	Services rendered by the financial institutions within the tertiary sector, such as banking and insurance.  (((  
	(3)

	
	
	
	

	
	2.2.6
	Intermediate goods are those goods that are used as inputs by enterprises./Semi-finished goods.(((
	(3)

	
	
	
	

	2.3
	FOUR characteristics of a mixed economy
	

	
	
	
	

	
	1. Freedom of choice ((
	

	
	· Everyone has the freedom to participate in economic activities.((
	

	
	
	
	

	
	2. Motivation/Own initiative ((
	

	
	· Consumers and producers must be motivated by self interest.((
· Profit motive plays an important role. ((
	

	
	
	
	

	
	3. Ownership of factors of production ((
	

	
	· The state as well as private individuals (most) own the land and 
other factors of production to their own advantage. ((
	

	
	
	

	
	
	


	
	4. 
The state’s functions are limited to social and public services((
	

	
	· Where private sector cannot provide goods and services, the state 
will provide it. ((
	

	
	
	
	

	
	5.
Government’s regulatory role/State intervention ((
	

	
	· There is limited intervention by the government to control 
prices.((
· The state’s functions are limited to social and public services.((
· This is to fight poverty and achieve economic development and 
also to redress the imbalances of the past. ((
· The state intervenes as entrepreneur, organiser and lawmaker.((
· The state applies both efficient monetary and fiscal policies to 
ensure maximum economic growth with price stability. ((
	

	
	
	
	

	
	6.
There is  a trend towards privatisation ((
	

	
	· Most economic activities are market oriented. ((
         (Any 4 x 4)
	(16)
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	QUESTION 3  (LO2:  AS1 – AS3)
	

	
	
	
	

	3.1
	3.1.1
	competitively ((
	

	
	3.1.2
	explicit((
	

	
	3.1.3
	equilibrium((
	

	
	3.1.4
	inferior((
(4 x 2)
	(8)

	
	
	
	

	
	3.1.5
	THREE kinds of imperfect market structures
	

	
	
	· Monopoly((
	

	
	
	· Oligopoly((
	

	
	
	· Monopolistic competition((
	

	
	
	(
Duopoly (( 





(Any 3 x 2)
	(6)

	
	
	
	

	3.2
	3.2.1
	Intersection of demand and supply(((
	(3)

	
	
	
	

	
	3.2.2
	Horizontal(((
	

	
	
	Price takers (((
	(6)

	
	
	
	

	
	3.2.3
	a(( 
	

	
	
	MR = MC(((
	(5)

	
	
	
	

	
	3.2.4.
	Economic profit(((
	(3)

	
	
	
	

	
	3.2.5.
	PacP1 (((
	(3)

	
	
	
	


	3.3
	Differentiate between ‘short run costs’ and ‘long run costs’.
	

	
	
	

	
	Short run costs
	

	
	· The short run is the time period that is too short for a firm to change its resources/“fixed plant” period.  ((
· Short-run costs can be fixed or variable. ((
· Short-run costs, are the wages, raw materials, etc used for production.((
· Total fixed costs (TFC) are those costs that do not vary with changes in the output. ((
· They include insurance premiums, rental payments, interest on loans, etc. ((
· Total variable costs (TVC) are those costs that vary with changes in the output. ((
· They include payment for materials, fuel, power, transportation services, most labour, and similar costs.((
· Total costs (TC) = TFC + TVC ((
· Average fixed cost (AFC) = TFC ÷ Q. ((
· It will decline as output rises. ((
· Average variable cost (AVC) = TVC ÷ Q. ((
· Average total cost (ATC) = TC ÷ Q, sometimes called unit cost. ((
· Also note that: ATC = AFC + AVC((



     (Max)
	(8)

	
	
	
	

	
	Long run costs
	

	
	· The long run is a time period long enough for a firm to change the quantities of all resources employed. ((
· In the long run, all production costs are variable. ((
· i.e., long-run costs reflect changes in plant size, and industry size can be changed. ((
· The long-run ATC curve shows the least per unit cost at which any output can be produced after the firm has had time to make all appropriate adjustments to its plants size. ((
· Economies of scale exist in the long run. ((
· Diseconomies of scale exist in the long run. ((
· Economies of scale or economies of mass production explain the downward-sloping part of the long-run ATC curve.((
· i.e., as plant size increases, long-run ATC decrease. ((
     (Max)
	(8)
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	QUESTION 4  (LO3:  AS1 – AS4)

	
	
	

	4.1
	4.1.1
	Land restitution ((
	

	
	4.1.2
	growth ((
	

	
	4.1.3
	Monetary Policy Committee ((
	

	
	4.1.4
	NEPAD ((
	(8)

	
	
	
	

	
	4.1.5
	THREE methods of economic growth
	

	
	
	· Unequal holdings of wealth ((
	

	
	
	· Differences in the composition of households ((
	

	
	
	· Differences in skills and qualifications ((
	

	
	
	(
Discrimination ((                                            (Any 3 x 2)
	(6)

	
	
	
	

	4.2
	4.2.1
	SIX countries in SADC
	

	
	
	· Angola(
	

	
	
	· Botswana(
	

	
	
	· DRC(
	

	
	
	· Lesotho(
	

	
	
	· Malawi(
	

	
	
	· Mauritius(
	

	
	
	· Mozambique(
	

	
	
	· Namibia(
	

	
	
	· RSA(
	

	
	
	· Seychelles(
	

	
	
	· Swaziland(
	

	
	
	· Tanzania(
	

	
	
	· Zambia(
	

	
	
	(
Zimbabwe (                                                     (Any 6 x 1)
	(6)

	
	
	
	

	
	4.2.2
	Economic goals of the SADC.
	

	
	
	· Economic growth ((
	

	
	
	· Alleviation of poverty ((
	

	
	
	· Effective protection of the environment((
	

	
	
	· Sustainable utilisation of resources((
	

	
	
	· More employment((
	

	
	
	(
Improving standard of living((                        (Any 3 x 2)
	(6)

	
	
	
	

	
	4.2.3
	THREE forms of economic integration
	

	
	
	· Free Trade Area ((
	

	
	
	· Customs Union ((
	

	
	
	· A common market ((
	

	
	
	· An economic union ((
	

	
	
	(
A monetary union ((                                       (Any 3 x 2)
	(6)

	
	
	
	

	
	4.2.4
	· Economic growth and development and more employment.((
	

	
	
	· Reduction in poverty and inequality. ((
	

	
	
	· Diversification of production activities. ((
	

	
	
	· Increased international competitiveness and increased exports. ((
	

	
	
	(
Increased African integration. ((                    (Any 1 x 2)
	(2)


	4.3
	Methods of economic growth as embodied in GEAR
	

	
	
	
	

	
	1. Increase in productivity ((
	

	
	· Productivity is the relationship between input and output. ((
· Productivity can be achieved by managing organisational 
activities more purposefully.((
	

	
	
	
	

	
	2. Availability and utilisation of factors of production ((
	

	
	· Land can be used for new purposes that will render better 
returns. ((
· The ratio of working population to the total population must 
be increased. ((
· Capital widening and capital deepening must be encouraged. ((
	

	
	
	
	

	
	3. Technological change ((
	

	
	
	· New technology refers to the new methods of production which reduces cost and increases profit. ((
	

	
	
	· Technology extend human abilities. ((
	

	
	
	· New technology will also increase productivity.((
	

	
	
	

	
	4. Effective government policies and administration ((
	

	
	
	· Government should have policies to increase exports and expansion of manufacturing industries. ((
	

	
	
	· Policies must be executed in a manner that minimises wastage of time, inconvenience and costs. ((
	

	
	
	
	

	
	5.
Investment((
	

	
	
	· An increase in capital per worker will increase output.((
	

	
	
	· An increase in capital requires more investment and savings. ((

        (Any 4 x 4)
	(16)
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	QUESTION 5  (LO4:  AS1 – AS3)
	

	
	
	

	5.1
	5.1.1
	income((
	

	
	5.1.2
	world wide((
	

	
	5.1.3
	warming((
	

	
	5.1.4
	recycling((
	(8)

	
	
	
	

	
	5.1.5
	THREE organisations established to promote globalisation
	

	
	
	· The United Nations (UN) ((
	

	
	
	· The International Monetary Fund (IMF) ((
	

	
	
	· The World Bank((
	

	
	
	· The World Trade Organisation (WTO) ((
	

	
	
	· The International Labour Office (ILO) ((
	

	
	
	· The World Health Organisation (WHO) ((                  (Any 3 x 2)
	(6)


	5.2
	5.2.1
	Environment refers to the physical surroundings and its physical conditions that affect people’s lives.(((
	(3)

	
	
	
	

	
	5.2.2
	Why dirtiest place
	

	
	
	· Poisonous drinking water ((
	

	
	
	· Lead contaminated soil((
	

	
	
	(
Polluted air( (





       (Any 3 x 2)
	(6)

	
	
	
	

	
	5.2.3
	THREE measures to protect environment
	

	
	
	
	

	
	
	1.
	Environmental tax (green tax)/Price increases (
	

	
	
	
	· Levy charged where a manufacturing process harms the environment((
	

	
	
	
	
	

	
	
	2.
	Pollution license/Reducing emissions(
	

	
	
	
	· Allowed to pollute up to a certain level((
	

	
	
	
	
	

	
	
	3.
	Liability law (
	

	
	
	
	· Makes the polluter pay financial compensation to the people affected by the pollution ((
	

	
	
	
	
	

	
	
	4.
	Laws and regulation/Government action (
	

	
	
	
	· Made to protect the environment for the future (Protected Areas Bill, Biodiversity Bill, Coastal Management Bill)((
	

	
	
	
	
	

	
	
	5.
	Education/Public opinion (
	

	
	
	
	· Information to change public attitudes((
	

	
	
	
	
	

	
	
	6.
	Voluntary agreements(
	

	
	
	
	· Companies volunteer to limit their pollution levels((
	

	
	
	
	
	

	
	
	7.
	Technical development(
	

	
	
	
	· New technology must allow growth while containing pollution by means of substitution, efficiency, replacement, etc. ((
	

	
	
	
	
	

	
	
	8.
	Tradable permits(
	

	
	
	
	· A business using less than its licence permits could sell the surplus to another company((

        (Any 3 x 3)
	(9)

	
	
	
	

	
	5.2.4
	ONE type of pollution
	

	
	
	· Air pollution((
	

	
	
	· Water pollution((
	

	
	
	· Land pollution((
	

	
	
	(
Noise pollution((, etc.                                                 (Any 1 x 2)
	(2)


	5.3
	FOUR consequences of globalisation
	

	
	
	
	

	
	1.
	The structure of economies ((
	

	
	
	· Globalisation changed the proportions in which the different sectors contribute to the GDP ((
	

	
	
	· It decreased the contribution of the primary sector (in particular agriculture) ((
	

	
	
	
	

	
	2.
	Economic growth ((
	

	
	
	· Growth of  world economy from new technology, and the liberalisation and growth of trade((
	

	
	
	· Globalisation had a positive impact on South Africa’s economy ((
	

	
	
	
	

	
	3.
	Changing trade patterns ((
	

	
	
	· Globalisation resulted in enormous growth in international trade ((
	

	
	
	· Countries in the south took a lead in the process by exporting more, and their dependence on export has grown continuously((
	

	
	
	
	

	
	4.
	Changes in employment conditions((
	

	
	
	· Multi-national enterprises have the potential to employ more people((
	

	
	
	· Employment in services increased far more rapidly than in manufacturing((
	

	
	
	
	

	
	5.
	Environmental decay((
	

	
	
	· Globalisation is seen as destroying the planet((
	

	
	
	· The state of our environment is continuously declining and various renewal resources, such as fresh water, forestry, plants and animal species are being exhausted. ((
	

	
	
	
	

	
	6.
	Labour((
	

	
	
	· The number of people moving from one country to another is increasing every year. ((
	

	
	
	
	

	
	7.
	Cultural change((
	

	
	
	· The dominance of English is an example of globalisation – this is leading to one global culture((
	

	
	
	· Producers such as Nike and Sony promote a lifestyle that flow from rich countries to poor countries((
	

	
	
	(Any 4 x 4)
	(16)
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	QUESTION 6  (LO3:  AS1 – AS4 AND LO4:  AS1 – AS3)
	

	
	
	

	6.1
	6.1.1
	commercial ((
	

	
	6.1.2
	medium ((
	

	
	6.1.3
	share holders ((
	

	
	6.1.4
	unequal ((
	(8)

	
	
	
	

	
	6.1.5
	THREE elements of BEE
	

	
	
	· Equity ownership ((
	

	
	
	· Management and control ((
	

	
	
	· Employment equity ((
	

	
	
	· Preferential procurement ((
	

	
	
	· Enterprise development ((
	

	
	
	(
Social responsibility ((


       (Any 3 x 2)
	(6)

	
	
	
	

	6.2
	6.2.1
	Labour implies all human effort whether mental or physical in expectation of a reward. (((
	(3)

	
	
	
	

	
	6.2.2
	(
Unskilled (((
	

	
	
	(
Semi-skilled  (((
	(6)

	
	
	
	

	
	6.2.3
	Advantages of skilled labour
	

	
	
	(
More productive (((
	

	
	
	· More efficient in the production process (((
	

	
	
	· Higher quality of products (((
	

	
	
	(
Lower production costs and prices (((
       (Any 3 x 3)
	(9)

	
	
	
	

	
	6.2.4
	Need more technical and professional labour force. ((
	(2)

	
	
	
	

	6.3
	Banking functions of SARB
	

	
	
	
	

	
	1.
	Bank of issue/Issue of notes and coins ((
	

	
	
	· Sole right to issue bank notes and coins ((
	

	
	
	· SA Bank Note Company prints notes and SA Mint Company mints coins ((
	

	
	
	
	

	
	2.
	Government’s banker ((
	

	
	
	· Act as main banker, agent and adviser of state ((
	

	
	
	
	

	
	3.
	Custodian of gold and foreign reserves((
	

	
	
	· Acts as keeper of a the country’s gold and foreign exchange ((
	

	
	
	· There must always be enough to pay for imports ((
	

	
	
	
	

	
	4.
	Custodian of cash reserves ((
	

	
	
	· Amounts of legally required cash reserves that banks must maintain, are kept at the SARB ((
	

	
	
	· These requirements can change from time to time ((
	


	
	5.
	Bank of settlement/Central clearing bank ((
	

	
	
	· Money owed from one bank to another as a result of cheques are settled by the SARB ((
	

	
	
	
	

	
	6.
	Lender of last resort ((
	

	
	
	· Banks can borrow funds through repurchase agreements ((
	

	
	
	
	

	
	7.
	Economic and statistical information ((
	

	
	
	· Economic and statistical information are collected, processed and released (( 




  (Any 4 x 4)
	(16)
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	TOTAL FOR SECTION B:
	150


	QUESTION 7  (LO1:  AS4)
	

	
	

	Main elements of South Africa’s infrastructure
	

	
	
	

	INTRODUCTION
	

	(
	A well-developed infrastructure is necessary for the effective functioning of all modern economies. ((
Infrastructure refers to the existence of community, social and economic services that is needed for the foundation of the production and distribution structure of a country. (( 

It consists of systems such as transport, water, energy and communication. ((










           (Max)
	(3)

	
	
	

	BODY
	

	Communication ((
	

	
	
	

	(
	An efficient communication structure is essential for businesses. ((
	

	(
	The aim of the communication system in economics is to spread knowledge and news about economic matters. ((
	

	(
	Businesses have to watch prices, check the availability of raw materials compare and assess domestic and foreign economic conditions.((
	

	(
	South Africa has the largest and most developed communications network in Africa. ((
	

	
	This includes: 
	

	(
	Telephones – fixed-line and cellular phones with e-mail, fax and internet facilities. ((
	

	(
	Postal services – mail by land or air. ((
	

	(
	The media – print and electronic media. ((
	

	(
	The Communications Authority of South Africa (ICASA) has a mandate to encourage the supply of affordable telecommunication services to previously disadvantaged communities. ((
	

	(
	Communication serves as an important source of knowledge and information. ((
	

	(
	Communication promotes economic and technological development.((
	

	(
	Communication increases the standard of living. ((


    (Any 6 x 2)
	(12)


	Transport ((
	

	
	
	

	(
	This is often referred to as the 5th factor of production. ((
	

	(
	South Africa has a modern and extensive transport infrastructure. ((
	

	
	This includes:
	

	(
	Road transport – private motor vehicles are most important and minibus-taxis play an important role. ((
	

	(
	Rail transport – managed by Spoornet who transport goods as well as passengers. ((
	

	(
	Ports and marine transport – Portnet is responsible for the management of all 6 major harbours.((
	


	(
	Air transport – SAA is the national air carrier and the largest air transport contractor in the country. ((
	

	(
	It brings the consumer and the manufacturer together. ((
	

	(
	It contributes to the gross domestic product of the country. ((
	

	(
	It also improves the mobility of all the factors of production. ((
	

	(
	Transport is a source of employment for all levels of labour. ((
	

	(
	Transnet is the main transport contractor in the country. ((
	

	(
	An efficient transport system is indispensable to the development of the 
country. (( 








    (Any 7 x 2)
	(14)

	
	
	

	Energy ((
	

	
	
	

	(
	South Africa has a well developed energy infrastructure. ((
	

	(
	Eskom is the national provider. ((
	

	(
	South Africa has large resources of coal which makes it possible for the generation of electricity in South Africa. ((
	

	(
	South Africa is the 10th highest consumer of energy in the industrial sector. ((
	

	(
	Electricity in SA mainly comes from coal, water and nuclear power. ((
	

	(
	Koeberg is the only nuclear reactor in South Africa. ((
	

	(
	South Africa uses a large quantity of liquid fuel most of which is imported. ((
	

	(
	South Africa also produces gas from coal and natural gas (PetroSA). ((
	

	(
	Solar, wind and tidal energy are at experimental levels. ((
	

	(
	Sasol provides most of South Africa’s locally produced fuels. ((
	

	(
	Hydro-electric power and firewood are also sources of energy in South Africa. 










    (Any 7 x 2)
	(14)

	
	
	

	
	
	

	CONCLUSION
	

	
	

	The smooth functioning of the production and distribution processes of a country depends on the existence of a proper infrastructure. ((
Use the following assessment grid together with the above to assess the discussion
	(2)

	
	

	
	

	
	
	

	MARKS

INTERPRETATION OF TOPIC

0

Candidate has shown no understanding of the topic.

1

Candidate has shown some understanding of topic but missed important aspects of topic.              (1 – 15 marks)
3

Candidate has interpreted topic correctly buy has not linked  facts to topic.                                  (16 – 30 marks)
5

Candidate has interpreted topic correctly and has linked facts to topic.                                             (30 – 45 marks)

	(5)

	
	
	[50]


	QUESTION 8  (LO2:  AS3)
	

	
	

	Factors that determine the price elasticity of demand
	

	
	

	INTRODUCTION
	

	(
	Price elasticity of demand refers to the responsiveness of quantity demanded to a change in price.((
	

	(
	Where quantity demanded is responsive to price changes, demand is said to be elastic. ((
	

	(
	Whereas when quantity demanded is unresponsive to price changes, demand is inelastic. ((








           (Max)
	(3)

	
	
	
	

	BODY
	

	1.
	Substitutes ((
	

	
	· Products that have many substitutes tend to have an elastic demand((
· It is easy to buy a substitute when its price rises.((
· A product that has few substitutes tends to have an inelastic demand, because buyers do not have as much choice. ((
	

	
	
	

	2.
	Uniqueness ((   
	

	
	· The more unique a product or service is, the less elastic demand will be.((
· This is because there will be fewer substitutes. ((
	

	
	
	

	3.
	Income and wealth((
	

	
	· Demand for expensive articles is elastic for buyers with limited income. ((
· Demand for expensive articles is less elastic for buyers with higher 
income. ((
	

	
	
	

	4.
	The proportion of income spent on the product ((
	

	
	· Goods and services that take a large portion of a consumer’s budget tend to have an elastic demand ((
· Larger amount means that the price change has a bigger impact on the consumer’s overall spending.  ((
· Products that constitute a small portion of a purchaser’s budget tend to have an inelastic demand. ((
· Smaller amount means the impact of price changes has smaller effect on the consumer’s overall spending. ((
	

	
	
	

	5.
	Time((
	

	
	· Demand tends to be more elastic in the long run than in the short run ((
· This is because consumers take time to adjust to price changes. ((
· Consumer’s habits do not change in the short run((
	


	6.
	Necessities/Luxury goods/Nature of commodity ((
	

	
	· Elasticity of demand will be perfectly elastic for necessities. ((
· Goods that consumers consider to be luxuries will be more elastic, ((
· Consumers believe that they can do without them if the price increases too much.((
· Demand will tend to be elastic if it is possible to postpone the purchase, for example a dishwasher.((
	

	
	
	

	7.
	Durability((
	

	
	· The longer the good lasts, the more elastic the demand will be. ((
· If the price of cars increases, consumers may decide to keep their existing cars for longer period tan they had originally intended.((
· Non-durable goods, like household cleaning materials, cannot be used more than once and therefore tend to have a more inelastic demand.((
	

	
	
	

	8.
	Habit forming((
	

	
	· Some products are habit forming, for example cigarettes, alcohol and chocolate the demand for such products will be inelastic. ((
· The quantity demand seldom changes even when price changes drastically. ((
	

	
	
	

	9.
	Possible uses((
	

	
	· The more uses for an article, the more elastic the demand for it. ((
· A slight fall in the price of rubber would cause rubber to be used for other purposes previously too expensive.((
	

	
	
	

	10.
	The degree of customer loyalty ((
	

	
	· If customers have a loyalty towards a particular product, the demand tends to be inelastic. ((
· An increase in price will not lead to a huge drop in demand. ((

(Max)
	(40)

	
	
	

	CONCLUSION
	

	
	

	(
	If the demand for the product is elastic, the entrepreneur will have to be very cautious for price increases.((
	

	(
	A price increase can lead to a huge reduction in quantity demanded.((
	

	(
	If the product’s demand is inelastic the quantity demanded will not decrease as sharply in reaction to a price increase.((
(Max)
	(2)

	
	
	

	Use the following assessment grid together with the above to assess the discussion.
	

	MARKS

INTERPRETATION OF TOPIC

0

Candidate has shown no understanding of the topic.

1

Candidate has shown some understanding of topic but missed important aspects of topic.              (1 – 15 marks)
3

Candidate has interpreted topic correctly buy has not linked facts to topic.                                   (16 – 30 marks)
5

Candidate has interpreted topic correctly and has linked facts to topic.                                             (30 – 45 marks)

	(5)

	
	
	
	[50]

	
	
	
	

	QUESTION 9  (LO3:  AS2)
	

	
	

	Characteristics of developing countries.
	

	
	
	

	INTRODUCTION
	

	· Countries are mainly divided into developed and developing countries. ((
· There are many differences between developed and developing countries. ((
· South Africa is an example of a developing country. ((                      (Max)
	(2)

	
	
	

	BODY
	

	1.
	Low standard of living((
	

	
	· Standard of living is measured in terms of per capita income. ((
· Per capita income in developing countries are low ((
· Developing countries have slower growth in per capita income. ((
· The income gap between the rich and poor is greater in developing countries. ((
· Majority of the people in developing countries are poor. ((
· People are poor when they are earning less than what they need to satisfy their basic needs. ((
· Many people fight against malnutrition, diseases and ill health. ((
· Life expectancy is also very low in developing countries. ((
· Literacy rate in developing countries are also low.((
	

	
	
	

	2.
	Low levels of productivity ((
	

	
	· Levels of labour productivity in developing countries are very low.((
· There is a serious shortage of complementary factor inputs. ((
· Financial resources, education and training are all in short supply. ((
· Human capital, managerial and entrepreneurial skills are also scarce. ((
· Poor nutrition leads to restrictions in physical and mental growth of individuals. ((
	

	
	
	

	3.
	High population growth and burden of dependents ((
	

	
	· Majority of the world’s population lives in developing countries. ((
· Birth rates are high and death rates are declining. ((
· Children under the age of 15 and people older than 65 years are non-productive members. ((
· These unproductive people depend on their families for livelihoods. ((
	

	
	
	

	4.
	High levels of unemployment ((
	

	
	· Developing countries do not use their labour force fully. ((
· There is large scale underemployment .((
· There is also open unemployment .((
· The people nor the governments are unable to create jobs for them. ((
	

	
	
	


	5.
	Dependence on primary sector ((
	

	
	· Most developing countries depend heavily on their agriculture and other primary products.((
· Majority of the people live and work in the rural areas. ((
· Agricultural productivity is also very low. ((
· Primary goods are the main export goods. ((
	

	
	
	

	6.
	Deficient infrastructure ((
	

	
	· In some developing countries infrastructure is non-existent. ((
· Physical, legal, market and monetary infrastructure are deficient. ((
	

	
	(Max)
	(40)

	CONCLUSION
	

	
	

	The lack of information in developing countries makes it difficult to implement policies for economic growth.(( (
	

	This has resulted in misguided intervention which had hampered development. (((                                                                                 










       (Max)
	(3)

	
	
	

	Use the following assessment grid together with the above to assess the discussion.
	

	MARKS

INTERPRETATION OF TOPIC

0

Candidate has shown no understanding of the topic.

1

Candidate has shown some understanding of topic but missed important aspects of topic.              (1 – 15 marks)
3

Candidate has interpreted topic correctly buy has not linked  facts to topic.                                  (16 – 30 marks)
5

Candidate has interpreted topic correctly and has linked facts to topic.                                             (30 – 45 marks)

	(5)
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	QUESTION 10  (LO4:  AS1) 
	

	
	
	
	

	Causes of poverty 
	

	
	
	
	

	INTRODUCTION
	

	· Poverty is a situation where a person’s income is too low ((to enable him/her to buy the amount for food, clothing, housing and medical care that are deemed necessary to meet his or her basic needs.((       (Max)
	(3)

	
	
	

	BODY
	

	1.
	Unemployment ((
	

	
	· The most important reason for poverty is unemployment. ((
· This is a result of an inability to find a job or to establish self-employment .((
· In developing countries many people make a living from agriculture which is exposed to risk such as weather conditions, pests and theft. ((
· Change from labour intensive to capital intensive production methods also cause unemployment and poverty. ((
	

	
	
	

	2.
	Inadequate infrastructure ((
	

	
	· Inadequate transport system, communication networks and energy supplies raise the cost and risks associated with doing business in a country. (( 
· Inadequate infrastructure exists in developing countries because of a high population concentration on the one hand and the vastness of rural areas on the other. ((
	

	
	
	

	3.
	Lack of resources ((
	

	
	· The total resources, including food, are usually not enough to adequately support the population. ((
	

	
	
	

	4.
	Lack of education and training ((
	

	
	· Those who have not had a school education or been trained for a job find it a lot harder to earn a living than those who have.((
· The level of education of mothers has a direct influence on the future success of their children.((
	

	
	
	

	5.
	Ill-health ((
	

	
	· HIV, TB, malaria and other diseases place the families of those affected in a very difficult situation.((
· These infections have added greatly to the level of poverty. ((
· Poverty and malnutrition often increase as scarce resources are used for health care for the sick.((
	

	
	
	


	6.
	Investment and debt ((
	

	
	· Countries are poor because they do not have money for investment.((
· They do not have money for investment because they are poor. ((
· They are therefore trapped by poverty and are in a Catch-22 situation.((
	


	7.
	Lack of technological progress ((
	

	
	· Developing countries have not kept up with much of the technological progress in agriculture, manufacturing and services industries. ((
· Significant investment in new equipment and technically skilled labour force is required. ((
	

	
	
	

	8.
	Poor governance/Ineffective government policies ((
	

	
	· The functions of the legislator (parliament), the judiciary (courts) and the executives (administration) are not kept separate. ((
· Corruption, nepotism and inefficiencies are rife and are not effectively dealt with. ((
· Budgets, procedures and protocol are not respected or honoured. ((
· Bad policies can result in lack of opportunities. ((
· Apartheid system in South Africa can be seen as one of the most important causes of poverty. ((
	

	
	
	

	9.
	Violence and war  ((
	

	
	· Violence and war occur to the detriment of every citizen because it cost money that could have been used for education, health and infrastructure.((
	

	
	
	

	10.
	Poverty causes more poverty ((
	

	
	· Some people are poor because they are not able to break from the poverty cycle. ((
· This is because of the lack of educational opportunities, or sometimes children leave school early to support the family. ((                      (Max)
	(38)

	
	
	

	
	
	


	CONCLUSION 
	

	
	

	To alleviate poverty, government uses various measures such as:
Education and training, (
Job creation programs, (
Access to social services, ( 

Land redistribution.(
	(4)

	
	
	

	Use the following assessment grid together with the above to assess the discussion.
	

	MARKS

INTERPRETATION OF TOPIC

0

Candidate has shown no understanding of the topic.

1

Candidate has shown some understanding of topic but missed important aspects of topic.              (1 – 15 marks)
3

Candidate has interpreted topic correctly but has not linked facts to topic.                                  (16 – 30 marks)
5

Candidate has interpreted topic correctly and has linked facts to topic.                                             (30 – 45 marks)

	(5)
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	TOTAL FOR SECTION C:
	100

	
	
	

	
	GRAND TOTAL:
	300





































































